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Instructions : 1. Check the question paper for faimess of printing. If there is any lack of faimes;,
inform the Hall supervisor.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,
GO : Belalenndien pret Wilysanend Qsreir. 5
Mote : This question paper contains four parts
ugdl 1/ PART I
@iliy: (i) enendg eflenndaemag aiewafldsan.
(i) Bsand Cuipdsione doreom  Gaibts@ds ot EMIG
alieufamenuin sTIpES

Note: (i) Answer all the questions 12x 1=12
(ii) Choose the most suitable answer and write the code with the corresponding xms\“f

1. Fer Gaudin aliflaysgearsin

........... FITbHHTELD.
=) o_simeniowimrer Femid o) Qauiiglenes o wirey
@) Curgeiiar seraw #) ) whpid 8)
The ca efficient of linear expansion depends on .............
a) original length b) increasing temperature .
¢) nature of material d) a) and b) :
2. ger \ldmgen_ srermentlsir uarerTL @ ( SI)Gg ............,
o) Guor ) 9l Li G g w) gib L
SIunit of specific resistance is ...,
a) mho b) ohm/metre c) ohm d) ohm metre
3. STET .o, b i b
i sreisr Bofliatind erafsmeurear 5fusspmeg Qaefiie?
&) 83 @ afl syflswner )83 i
%) 83 1 Al b Gempeurest
@) 73 g el b gompaurer #) B3 gs
: ; 05 Careir_
The elements having atomic number js . unde i
) mies than B3 b)less than gy TED spontaneous radioactivity-
©) less than 73 d) equal to 83
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4,25 alggsar® (25%) rbparre) senyad: sreiTLg)
)28 sl srggemrrsd 100 Blad) il o_erenz)
)25 168l sthgarred 25 06 5 fsy o _sirsmgy
@) 25 158 TSgeamTel 75 1flefl £flse o_girsTE).

) 75 fls8l srdgammed 25 el Bifls o_srergy,
25 percent (25%) ethanol solution means
a) 25 ml ethanol in 100 m| of water

b) 25 ml ethanol in 25 ml of water
¢) 25ml ethanol in 75 ml of water

d) 75 ml ethanol in 25 ml of water

o Wsrallaarullsy & Ao ailenenQurmenar Gl L sre @ Qeusflmeafla
Fahn QuTus almarGurmsr o moursn sjarey
=) sy AsAns

)gmpdpg)
@)yl Gmppzs Jer ofissdng =) gsels oPafbs der gepips.
The amount of product formation in a ible reaction when the periodic
removal of the product takes place.
a) increases b) decreases
c)first decreases then increases d) first increases and then decreases

. & paaHene s ppibsmer srTiibE sflwursr alaLmwus CaipsGhs mugsis.
i) eraudsi’ sty GOinl_ssss fleppenwd Glsrar_ma.
ii) e Cauppan apebemn AauGaD s SEEsmTY 2 Gardps.
i'ti) P ﬁ‘ﬂwﬁﬂm Blenp ﬂﬁf@i S0 Hen DD Fwib.
=) b i, iii & o) iwpgib il R @) i 0 Gio &
Analyse the following and choose Ihe correct s!atlemem(s]
i) An electron has considerable mass ‘ e
ii) A hetero atomic molecule is formed from different kinds of atoms.
iif) Mass number and atomic mass of an element ar same
3)1, i and iii are correot b) i nd i, AR OURDRCE o
<) only i is correct d) only i is correct

=) il e Gib &

H . - . ?
7. S6RE CriienaulldrBUTS £ipassL ap i, aydailgger 2 pusfurdlng?

&) ATPwrerg ADPwrs wrpoCurg: &) €0 5 nerke ‘.’.m@fnsuw
8) Ho cpevisam it \feristiuGHGUTS! &) Geva s gnd

: ; .
During photo synthesis a which ofthe fllowizE 59 m::vgf;-;pmw
o when ATP is comvered 0 A3 :; :ne:mesé o
¢) when H,0 is splitted B
G_‘;ﬂrwnﬂwl gl !?f: ) ypsGpredsT Frflurgn
3 ymanfl Qe TS St 8
8) pE Qs qmwﬂuu’@d‘ ")
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Root hairs are
a) cortical cell
c¢) unicellular

b) projection of epidermal cell
d) both b and ¢
9. yemsUugeull upewal sTEHTH S(HSUILEHD o ulferib.....
=) FuCsr epuGavrur <) 9 FSAWrLEAL Résny
@) GusiiGuirGavrulls Qu@BpsTaUTRISET ) @)Hw CaraidT_sumesr
The organism considered to be the fossil bird is.......
a) Ginko biloba b) Archacopterix  ¢) Paleozoic fern d} Indian Gondwana

10. vaflsgfid of ger CsSLOD 9o Quen CHliED Gememss LU
o_Geurdlngl. &Gyl ufler Bane

3)) PHLOWD 24} Gl mown @) @piowwid ) BTesTiows

In humans, a male and a female gamete fuse and form the zygote. The conditi
is.....

a) haploid

on of zygote

b) diploid c) triploid d) tetraploid
M. Qudsuydm CriEE, .............erérmy Quui-. '
3)) VwsECsflur o) sri&GsTor @) srirdGarrior ) eSMbGuUTLLT
Blood cancer is called .............
a) Leukemia b) Sarcoma c) Carcinoma d) Lipoma
12. senfliQurfufle GPOysmard Crsfgg mads ... Lwssru@BE pg).
=) Notepad <) Paint - @) Scanner &) Scratch
In computer ,............ is used to collect the notes.
a) Notepad b) Paint c) Scanner d) Scratch '
u@# 11/ PART I1

@Oy : 1) gGseyid 7 eflewndisemé; aflevr werldasayLp.

if) (efewnm eretsr 228@ S Lmwons uileverfldsayip)

i) Answer any seven questions: (Q.No.22 is compulsory)

13. Gursgarss swsens allers; g seflsy Aautiy Wimio UweTUGeuG6iT &TFeRTLD s
Why are traffic signals are used in red colour? -

14, Qar@ss0uc Gsrer & Ho sflur? e
Burwiu@ssys.
Ceutiu eynmed ufiorhmnsHer Gurgy
@mﬂr'mﬂé;esitu@aﬂmg;. % Qaury
UBSSUUBS D).
State whether the following statement jg

During the process of transferring heat ¢
the body at higher temperature js heated

Note : 7x 2514

& BuDT? eTardsm o _Log) afleLuflen®

G™Dhs Qautiugensvufles \ﬂ—‘i"’m:ﬂunﬁ@i"
uBlaneuflsy 2 _sirew GLimmsiT .."?",.wu

true or false s justify your answer.

T L
8% the body at lower temperature is cooled

ne
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16.

17.

18,
19,

20.

HUTTR - TTUURD Y Qaveir sreire?

A source producing a sound of ﬁ‘cquency 90 Hz is
speed equal to (1/10) of the speed of
listener?

STOUT 9B QEFL'DU@L'JL] BID o_Garsip. &TUIUT, Yseblme st 1370K 2 aflg
gmpbs Cariugloauls elmarfs, *B@0PD A e Grivgmss 55dng.
sroUT, AsARe st |, 1370K & ol o wi Qaiudmeulsh aflmeryflbg
Aoy Ap Gt B g5 S5%ADg . A , B 2 Gaurgw allmarseyssrar
FweTQFiwiu’ L Gougs FOSTUT RS mar eTaggys

approaching a stationary listener with a
sound. What will be the frequency heard by the

Copper is a reddish brown metal, that reacts with O; at less than 1370 K to give A, a black
coloured compound, At a temperature greater than 1370 K, Copper reacts with O, to give B

which is a red coloured compound. Write the balanced chemical equations for the formation
of A and B.

PwslleT  Udeemioey, sreT (Qan iy Grr_reir) OTDIUCL.  URWey  sTaT
SPYSESLLGSEng ? : 4]
Why is the teeth of rabbit called heterodont? ]

YmETWL UTSISTUUTS meausdHés o_sayib SDWOILYEST wrenay?

*What are the structures involved in the protection of brain?

Feamrent_1 wpguid gfCarrenL_iisnu CupuBssis.

Differentiate phenotype and genotype. .

S hmi rDNA Qsryflsd s ui soulanorésao al. Guararg.

ST emTid Bese e ulflarsgld éﬂ@ﬁ:ug?g&rrg gtz piYssTLD
amibLgsss efsras vl @b pmpssiuGdTpar.

) S ppy Fifl eI ETTEATD SAUDI

) S Doy soum eyerTed) sryewd &

8) FnHm oML & resTLd @ram(io &ifl

%) & m) WwhHpID &ryewTid Gran@d s

Mark the correct statement :
Assertion : rDNA is superior over
R"-'asqn : Desired genes are Inse
Organisms, ;

is wron,
3. Assertiom is correct and reason fs is wiong
n
b. Reason is correct and the assertio

i t
¢ Both assertion and reason 1S corr:C .
d. Both assertion and reason is Wro%8

idization techniques. e i
h{tber:i without introducing the undesirable gencs m target
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21, wenpfit CAalinfer psAusBIusms eTsis.
Write the importance of rainwater harvesting.

22. 25°C v o_sirer Bifler ueliQuEmSs wilUmusQsTan® ofaierer ‘”MDC_"“
suwatssisn Gsmes son s, (25C & w0l rmdr iy, 1::
Guore [Q_.f 3)

From the value of ionic product of water at 25°C,  find out the con ;

L 5 i - i 3 0e"'tl"il‘lou
hydroxylions. (At 25°C concentration of hydrogen ions in water is 10 mol/dm?) of
ugd 1l
PART III

&fiiy: i) aGsab 7 ansdsende cloLweldsab.
i) (eflew ereder 32418 i’ Lmuions LbevaildaeyLh)

Note ; Answer any seven questions: (Q. No.32 is compulsory) Txd=3g
23. 1) pobs srremhsGaT® Gameansmens QT iU UEGHH Gamg L B sSmar
Blroys.
) spallemars dngsen ¢ aflssullsir SlplysAmen

senenfi gyreus Snssd
=) GumbFmer geirpide Gupul LI saransed : 955 Femenr aflensadr
sulpflugdEn Gumiiy e, : »
ii) @ Clesirdlar fmeir - 2 mwriLi stefls,Glsusirfer SANUETTSmSE Srens.
i) Use the analogy to fill the blank
a) Opening a door Moment of force, Opening a Waler tap : .......eees
b) Pushing a bus by a group of people : Like parallel forces, Tug of war :
ii) The power of a lens is - 2D. Find the focal length of 2 lens,
24. i) QsrEssiul Gsirar uLsdleflmbg el sTEGrreflis
EHENESL B,

Gsramgmss

ii) (U™) gofliesgar SAssELlmey £psmeim ey Blapdlns).
52U 4+ gn!

> X +Y

* 3l +Q( ) o
CQaueflurgi Gl o s gaflodssr X whHpyis :

Y wWemens sreims,
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28.

i From the given figure, calculate angle of reflection of s ourd

ii) Nuclear fission of a uranium nucles (U™ as follows
U™ + o' X +Y  + 3 +Q(encrgy),
o Gleusi Beumy ﬂiﬂ‘ﬁmlilmﬂ&ir SR G srarmanildansulorar ..
Quplmius mGsrGLrsrssy ST,

o

) 96 WPRESSgisiar syemissafisr el S BEDLw
s EEILE A s,
ii) &I sTETUZ) eTaiTen? SIHUTYS58)55Tar CaFldFwsrurt spL TSI,
i)  Find the daughter nuclei X and Y emitted from the above reaction

a) Atoms of different elements having same number of
isotones.

b) The number of atoms present in a molecule is called its
What is rust? Write the chemical equation for the formation of rust.

are called

ii)

) MgS0:TH;0 e sy Qauduiiu@sss Qurygs srsrar Bsphng? sflwrer
GaudFFwstur e sTuggs.

i) - QEr@sstiu’ & & pilaenyd
sflwrer afloufamar Gsray Gsils.

bl A sper BAG grimeiu@sgnshe Crriysmar all 4 LidgarGadr

smrensfwanyd  paTprs Tl

Amis sreremwwrédenrs Geudyflddampar.
srrenmid R: g iQgar@aafer srofwi wppib Gus w2 Ciysassir §ifls

EEDT IS Sy WIEHAL. :
=) Awpgis Rl Rayms Az allerégAng!.
. @) Asfl, Rgapreg o o @) A s, R sfursngt.
%) Awpois R paprarg R aemsiA s_aﬂ;é:nﬂmmw.
. s S e MSSOQ-?HIO gy wnmmnp::en and choose the correct
i) Understand the assertion statement and the e .
by . ; effective clennsing agents than
:mu(nn()m gﬁgfa:dﬂ;:;z'm g]: of detergents are water soluble.
a) Aandnmcomu,aexplmﬂw ;
b) A iscorrect, RS Wrong
d) A and Rare correch Rdoesn’t eXP

soaps in hard water.

¢} A is wrong. Ris correct.
lain A.

175




27. )

28.

29.

30. i

31

32,4

~

o® Criwgde srruafst Hap saalfsn 27.28%, asdnaler Doy, ey,
72.73% SéGrrugdar ppevdsmn Henmmwd sk LG e,

i) srursumr GasT STOUMST WBFTEDILITST STHI SyE b, B @"‘hﬂgg
wmpuild) L FulssOuBADS . STTemRIST Fms.

i) The mass percentage of carbon is 27.28% and the mass percentage of ox

Calculate the molecular mass of that compound.

ii)  Copper pyrites is the prime ore of copper. It is concentrated by froth float
Give the reason.

YEen is 273,

ation Methyg

) pwsdlar sauressyrild @msOsguin sserwitiser STETIUGeug) oyeiy
i} gysfidmes alld srenusmz susnrwim).

i) Why are the rings of cartilages found in trachea of rabbit?
ii) Define reflex are.

GFunens oy &fsitmer sreTUme wWirens? ThHHEHIS ST HET 5055,

What are synthetic auxins? Give examples,

) wrgalimii prisaflsd wrgallrd FETSTID  eTsiouTmI
Couam@in?

LITmoifl ey

i) @pdur o emmey o pusild = wi Semaflmer oA o galy
Bamgimuwulsir apsing GuwiburE LS USTU ST sT1g 515
i)  How can menstrual hygiene be mai d during | days?

ii) Name three improved characteristics of wheat that helped India to achieve high
productivity,

) ydp CFed #rsrrems Blasvaflsdm b rausur) Gaupiu@alpg?

i) ymzuge aAQurmearsmer BT s UTgIsThS Gaus(Hin?

i) How is a cancer ¢ell different from a normal cell ?

i) Why fossil fuels are to be conserved?

) dersbutiselst sbdsr Caremissramsda STheurss Osuiiag aor?

1) 5Q diergens. Qaneir fsme G g siTapessn st @ensnrasiinGelns:
6A  flsirGarr wrang @5 GGl wflursl Lrbdng el b

T SeTEDOIS T,

Post, hang very low in hot summer, why?

nee 5 Qis connected o an electric source. If a current of 6 A
en find the amount of heay produced in 5 minutes.

Al tsefs 2 Baurgh Qauliugg)
i) Electric power lines in electrical
i) An electric heater of resista
flows through the heater, th
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Ugd IV { PART Iv

fons: i) iEmETEg sff]:wna‘sw@b oL uefisal
& i) geGeumns Gﬁmnaﬂg)@m ’
T BB e aer
iii) Goemanurem @ misafigy ) kg,
Note * i) Answer all the questions 357921

ii) Each question carries seven marks,
i} Draw the diagram whereyer necessary,
pra@sl aSma el g

Describe rocket propulsion.
(or) (opsaugy)

8. ) pporny  ESTSmLmemer Lbs @)emsmriifed Boerssi
GsTEBUWSTESTSDLdsTeas Crrmamus
ET LTI
iy QT simpulld sHfuse 28 IGLriysefisr uwsTasnar BHE
i) With the help of a circuit diagram derive the formula for the resultant resistance of three
r resistors in parallel?
i) Give the uses of radio isotopes in industries,

Guirgr fmimn
BEHHLASTEHDIY UL susnry

WAL D) Epdaser Qurml s ssussTey Armi ysmailés o_craren?
9)) 2 BLerser enant raer kg o) 3 Gurdssr &Barmiler cpedsnm)
@) 5 Gursbaen Fsvdhui spavdsm gy ) 4 GurTise UTsILTST ppalbsm
ii) £BY QmrBEsCiu’ FHsrer S HpissT ST, ST sTew SYTTIE, S ) Saip
sToaflsl w48 ST(EI% . '
=) B soreadld) Gmphs Heralli) 2_eier G D) SSTUUTET sTRTOUGID
%) Bl Gorquwin ECarmrl smrésiuli. smrsd) Brpp sorsd
sTamlu gk . e
@) Aflsr Gmi Gsiwsdmar Fpps UEGE FUTWE 5! armaflaysisr
aQaralld oz 2@ Frid o Hlehsn QUTGST RS0
ng substances?
b) 3 moles of chlorine molecule

d) 4 moles of phosphorous moleculiz
True or False, If false give the

Frgems o plgsnelpg: ‘
) How many grams are there in the followi
) 2 moles of hydrogen molecule
¢) 5 moles of sulphur molecule
i) Find out the fallmzing statements whether they are
I Correct statement. .
2) In a solution the component which i
b) Sodium chloride dissolved in water s
¢) When Silica gel is kept 0pefe 18
hygroscopic in nature.

s present in lesser amount is called solvent.

forms a non-aqueous solution. S
moisture from the air, because it is

(or) (o105
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10th Science

i~ N e
34B. i} o)) CaCOs+ Heat —> CaOg+ COxp ) Draw and label the different

oot of Conjoint vascular bundles,
v Give reasons for the follow;
CaCOsyt Heat =2 CaOpy)+COyy D i

tements,
" RhL (@), Themovanent ol food sbsene e pblons e b s
Csudal ; . B in all direction,
Cupssm. Gaugalmersmer . gyr ’f“"ﬁﬂ HhS  @UElmeuls S, (b) Mature RBC in mammals do not haye ey organelles,
poLOUDIUSHSTET Fr5HWE gy meT ©_cirsmar STETUDS sTp 51, (OR) (srés )
’ S e )
) Fpssramd Gadallmarsafisy srgy BOBlemwrEss allamer? STre) 4 5, 1) 9 saTH SITESST sremrd) sTeiTar?
OH (ag) + HCl (aq) > NaCl jaq) + H: 0 : . " T .
NaOH (s {aq) (ag) + H20 g i) pHCLTUN, Sriurer a4 LUODID  seuspar gysw LD Hemss
CaHe@ +502 g >3C020 + 4 H20 g + Qeuiiruiip o sharar. @levar Qurgiarar uiflemmiry Corppsmsd: Caran@srasrd) oGy
i) £pssremin mpmissemer oyrris DI ThseTTE whHpi ThseTrs WDHWTES EBS PYULT? & Gissr o dsrer ST ESETE 5o 155,
SflvsHharear Quirmsswrer o DOIGEHDET DS ILIGGHI5. iif) wma-1  LHDIL a2 Bilflay Cpriisanses B Curar sy
=) B)ssi 95.5 % i Fmin Csihs seoresd srflerrmwin sTeTLILI D, CaumurBssnar eTupgis.
oo 4 . i Okazaki fragments? )
) @éCsiusdar Frw  aens o moyb  Gum uafldsi iy Curg i) Whatare
= : g Do K o * . ii) Octopus, cockroach and frog all have eyes, Can we group these animals together to
Ear A establish a common evolutionary origin, Justify your answer.
B8) @sCrivsHemar Gerrs ssmenTriby Qs Al Bd g Qurgggy iii) Write any three diffe b 1 Type-I diabetes and Type-2 diat
STTUTEAD Féah poLQupidpg:. :

i) a) CaCOyy+ Heat —_— CaOy+ COu

CaCOy;+ Heat ;). CaOgy+ COyp

!
Analyse the above chemical reactions. At what condition(s) these reactions ar
feasible?
b) Which of the following chemical reactions is a neutralization reaction? Reason out.
NaOH(aq+ HCl(ag — NaCliag+ HzOp
CaHegg + 5025 —» 3COzg+ 4Hz0(g)+ Heat
i Read and categorize the following stat that are suitable for ethanol and ethancic
acid

a) 95.5% of this 1's water soluti

b) Pure form of this compound change into i

¢) This compound undergoes decarboxyla
35A. ) poyhdenen sy SuUTE R

is called rectified sprit

ce like crystals on freezing
tion on heating with sodalime.
&Denpuilsir

|
LBy wmssmerd WY
UMThE UTShsmas Hdlis.

ii) Spssaim_ smprybsrer ETTEMEIS DG 5058,
&) yCarrwsHer aifurs £ty Gl e e g DTS u@ﬁ"s@sﬁﬁ
ue genssafld SLSULRANE.

2) urgngsaldr Wilits RBCuH Qse P —L
Bévensv,

»
178 !




10th — Science — PTA Question — 4: Answer Key

PTA Question -

4 Answer key

PART -1
1.d) bothaand b
2. d) ohm metre
3. @) more than 83
4. ¢) 25 ml ethanol in 75 ml of water
5. a) increases
6. ) only ii is correct
7. ¢) when H20 is splitted
8.d) bothbandc
9. b) archaeopterix

10. b) diploid
11. a) leukemia
12. a) notepad
PART Il
13. Unit-2 : TB Pg.no: 30 WTS Guide Pg.no: 25

14. Unit-3 : False. Because During the process of
transferring heat energy, the body at lower
temperature is heated while the body at higher

temperature is cooled.

15. Unit-5 : Inside TB.Pg.no: 67 (problem— 1)
16. Unit-8 : TB Pg.no: 122 WTS Guide Pg.no: 111
17.Unit-13 : TB Pg.no: 198  WTS Guide Pg.no: 164
18. Unit-15: TB Pg.no: 227  WTS Guide Pg.no: 189
19. Unit-18:
Genotype Phenotype
The hereditary information of | The characters of an
the organism in the form of | organism  which are
gene in the DNA and remains | visible are known as
the same throughout the life. phenotypes.

It can be determined by
scientific methods.

For eg., Blood group, eye colour,
height, genetic diseases.

It can be determined by
observing the organism.
For eg., Weight, physique,
beak of birds

20. Unit-20 : c) Both assertion and reason is correct

21.Unit-22 : TB Pg.no: 327  WTS Guide Pg.no: 266
22. Unit-10 : Kw = [H*] [OH]
ionic product of water,K,, = 1.00 x 10~*
Conc. of hydrogen ions in water = 1.00 x 1077
Conc. of hydroxyl ions in water = ?
1.00 x 10~ =[1.00 x 1077] [OHT]

1.00 x10714 _
—————=1.00 x10 7
1.00 x10

Conc. of hydroxyl ions in water = 1.00 x 1077

[OH] =

PTA — Model question Paper — 4

PTA - wrdlfl aflemsgmer — 4

uggl — 1
¥) oI BEYID 2
F) gD LU LT
o) 33 el oFsLwTen
@) 25 1068 erHHeumsv 75 W06l Bifled o _eiengl
) oiFsfleasmal
@) il wL D &f
&) H20 epeodsammise LlendbsliLGoCuUTgs
F) < By @
) YA IGILfdberd
10. &) S@@owib
. 3 uECHwT
. &) notepad

e L o

[N
N =

uggdl — Il
13. opv@-2: 11555 etemi: 30 WIS wieremr : 26
14. ompve-3: seum. Gl  ymms0  Lfllonhpsésler
Cursl @oombs  CRILILBDeVUI) 2 6T GILITIB6IT
O I ILIBSSLILGIIS.  PE  CleULILBIeeVLTIsD
2 _ae GTgserT GefelBBLIIBBBERI.

15. OV@-5: 1555 2 6irLl.etemi - 68 (Fjey -1)

16. Dv@-8: 1555 otewr: 119 WTS 116007 : 114
17. owva-13: ys55 otemr: 195 WIS w.eremr @ 171
18. opv@-15: 1555 otemi: 224 WIS riere00r : 195
19. ov&-18:
25BemremL_L1 LT Bsomrem1_t1
iﬁ;ﬁ;"&’ﬂ’m&é% 52?@;? o uiflrdBE  Geuefulsd

(WapeimId g8y Bpaan. | OPTHD USILSET 4GID.

. . .| 2 ulflendema 2 _Bml

SO0 G S | Gpnis ot
) STl & EHEVTLD.

BT : BIHHoNND, HeWIenie | 6L&BT : 6T6nl, 2 L 606MIDLIL],

Bmib, 2 Wiy, wyleaml ChTuissit LIBsnausb6lls  Si6v&

20. ov@&-20: B)sFmmmyy 1B STy Gewib Fifl.

21. ov@-22: 155E etemr: 327 WIS wieremr - 281

22. ove-10: Kw = [H] [OHT]
Bler eweflGumasd, Ky = 1.00 x 10714
Bflsd emaml reger oweflulst Gandey = 1.00 x 1077
Bfls0 el rrédlsd siweiuier GFne = ?
1.00 x 107 =[1.00 x 10~7] [OH]

-14
[OH] =221 - 100 x 107
1.00 x10

Bfls0 enamlprédlsh owelulen ey = 1.00 x 1077

wtsteam100@gmail.com

WWW.waytosuccess.org
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10th — Science — PTA Question — 4: Answer Key

PART —III

23. Unit-1:i) a) Moment of a couple
b) Unlike parallel forces
Unit-2:ii) Power of a lens (P) = ,% =-2D

f=— =-05m

24.Unit-5:1)i = 90— 50°= 40°
angle of incident sound (i)= angle of reflected sound (r)
Therefore, Angle of Reflection of sound (r) = 40°

Unit-6 : ii) Nuclear Fission reaction :
92U235+ 0n1 — _%Bal‘” + _,’G.Kr92 + 30111 + Q (energy)
X - 558&141, Y — 35KI’92
25. Unit-7 : i) a) Neutrons  b) atomicity
Unit-8 : ii) TB Pg.no: 122 WTS Guide Pg.no: 111

26. Unit-9: i) TB Pg.no: 135 WTS Guide Pg.no: 122
Unit-11 : ii) a) A & R are correct, R explains the A

27. Unit-7 : i) mass % of carbon = 27.28 = mass of C

mass % of oxygen = 72.73 = mass of O
mass of carbon

no of moles of C = -
atomic mass of carbon

=2728 _ 997 =2
12

no of moles of O =% =454 =4

molecular formula - C,0, (or) 2 CO;
molecular mass =(2 x 12) + (4 X 16) = 88g
Unit-8 :ii) Copper pyrites is the prime ore of copper.
It is concentrated by froth floatation method.
Reason : lighter ores, such as sulphide ores, are
concentrated by this method.
Ex : Copper pyrites (CuFeS,), Zinc blende(Zns)
28. Unit-13: i) TB Pg.no: 198 WTS Guide Pg.no: 165
Unit-15 :ii) TB Pg.no: 227 WTS Guide Pg.no: 189

29. Unit-16 : TB Pg.no: 240  WTS Guide Pg.no: 201

30. Unit-17: i) TB Pg.no: 258 WTS Guide Pg.no: 216
Unit-20 :ii) TB Pg.no: 298 WTS Guide Pg.no: 245

31. Unit-21:1)TB Pg.no: 312 WTS Guide Pg.no: 256
Unit-22 :ii) TB Pg.no: 327 WTS Guide Pg.no: 266
32. Unit-1: i) The power lines which are made up of
metals expands on heating during hot summer,
this makes the lines to hang low.
Unit-4: ii) Inside TB Pg.no: 51(Problem — 6)

uggl — Il
23. Sv@-1: 1) o) @i ewL seIllsi BHBLILIGBBET
&) THCYHIT HewFuled CFUIVLIBLD FLOLT Benevote)lsnFH6iT

Dve-2: i) Gevsndlsi Bpsit (P) :% =-2D
f=— =-05m
-2
24. opv@p-5: 1) i = 90— 50" =40
115 Cesimsvonii) =e185GYmeriin &G imevond (I)
oteniBeu  @edlulledr srlGY TS Cmevond = 40
IvG-6: 11) DB Hw Liaey aiener :
g2Um+ 011' — 56Ba"" + }6Kr92+ 3011l +Q (energy)
X - 5588.141, Y — 3(~;.KI’92

25. opv@-7- 1)) Byl Jreiser =) epibasl B oo
Hv&5-8: ) ys55 etemr: 119 WTS  Lretemr :115

26. opv&-9: )jo555 etem: 133 WTS wieremr - 125

v@-11:i1) =) A wimb R &, R ez Ay alendeamsi.

27.996v@- 7: ) @mjicolsor wlsmmYo=27.28=amjLieofleor e

ysAementenr memp Yo = 12.713 = ysFeeilenr Bleoys
Siueien Hlenm

BTJLIGHT GLOT6OBO60T  6TovmT6o0Nb6mE = ——— -
STUeT Slgmiedle Hlenm

27.28
= =227=2

12

ybAeei CLoTeDB6Ie cTenTemibens = % =454=4

apevéammy o iii® - C404 (Di6vevz1) 2 CO,
apevdsnm Bemm=(2 X 12) + (4 X 16) = 88 &

V-8 1) @Iyl BBeT  BILILIfeT  (pDbBlLs

I G0 B BB  wpeopiLilsd
DI JUIISBLIIBDBS. BITT600TLD Gsvrreor
BITDIHDBONTR,  FeODLIE BTGB,  BUIDULPeIBULIY

SI_JUNISBLIIBDIoBT.  6TL.BN : B  DLIGOTL 61D
(CuFeSy), gdmis rilswedn (ZNS)

28.y6v@-13: 1)555 eremr: 195 WTS rr.er600r = 172

SV&-15: )ys55 eremr: 224 WTS  rr.eremr - 196

29.9/v@-16: 1555 oremr: 238 WIS Lietemr : 210

225
259

30.9v@-17: )ys55 oremr: 255 WTS 11676007
DV&-20: ) ys55 otemr: 297 WTS  Li.ereo0r

3.ovg-21: Lo6s5s e 313 WIS w.erewr = 270
Dve@5-22: 1)ys55 eremr: 327 WTS  wr.etemr - 281

32.96V@-11) 2 GooTdHBISH6NTeL oo 106 HIDLB6IT
BaTemL_SHEHTELMHIHEITED Qe LT H6 66T SBITTGUOTLDT &
alfleuenL_6uHTed SHTDAITHS O\FHThIEH S 6.

SIv&-4:11) ysHs 2 _eriretemr - Bl ey — 6)
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10th — Science — PTA Question — 4: Answer Key

PART -1V
33A. Unit-1: TB Pg.no: 14  WTS Guide Pg.no:13

33B.Unit-4: i) TB Pg.no: 57 WTS Guide Pg.no:55
Unit-6: ii) Inside TB Pg.no:83

34A.Unit-7:1) TB Pg.no: 104 WTS Guide Pg.no: 102
Unit-9:ii)TB Pg.no: 135 WTS Guide Pg.no: 119

34B.Unit-7:i)a) CaCOs(s)+Heat — CaO(s) + CO2(g) in
thermal decomposition reaction, heat is supplied to
break the bonds. It is a irreversible reaction.
CaCOs(s)+Heat g CaO(s) + CO2(g) in thermal
deomposition reaction, heat is supplied to break the
bonds. And if the reaction is carried out in a closed
vessel, it reaches a chemical equilibrium.

b) NaOHag) + HCl(ag) — NaCl(ag) + H20q)
This reaction is a neutralization reaction.

Reason : reaction of sodium hydroxide with
hydrochloric acid is a typical neutralization
reaction. Here, sodium replaces hydrogen from
hydrochloric acid forming sodium chloride, a
neutral soluble salt.

Unit-11:ii) a) Ethanol, b) Ethanoic acid
¢) sodium salt of ethanoic acid

35A.Unit-12: i) Inside TB Pg.no: 175(Figure —12.1)

Unit-14:ii)a) Phloem transports food. When,
leaves synthesize food, it transports food from
source to sink. On the basis of plants need (or)
season, transfer of food is reversed from sink to
source. Therefore the movement of food in
phloem can be in all direction.

b) Inside TB Pg.n0:205 (‘Do you know’ content)

35B.Unit-18:i) TB Pg.no:272 WTS GuidePg.no:225
Unit-19:ii)Inside Pg.n0:284 WTS GuidePg.no:237
Unit-21:iii)Inside Pg.no:312 WTS GuidePg.no:256

ugad — IV
33A. ov@-1: 155 etemr: 14 WIS wietewr - 13

33B.owv@-4: 1) 555 erem: 57 WTS Lieremr : 55
SVG-6: 1) Lys55 2_6n.Lieremi - 82

34A. ove-7: )ysss stemr: 103 WTS  wietemr - 104
Ov&-9: 1) ysss etemr: 132 WTS  wi.ere00r 123

34B. @@ 7i) =) CaCOs(s)+Heat — CaO(s) + CO2(g)
Ol ILFFHenge] allenarseilsy LN6eme6mtl 1L |5 6me6TT
2 LIUSBE& Oeulib SriuGdmpa. DaH @
IenTellened @ LD.
CaCOs(s)+Heat g CaO(s) + CO2(g) in thermal
OaulILFFHengHe)] allensrgeilsy LNememl 1L | & emeTT
2 LUIUSBEG Oeliud SIIUGEBEH. Obhs alener
Qb eI He0a60  HEWL LIGLIBMTeD GV
BoudFaoplemevenil SIEnLU|LD.

<4) NaOHag) + HCl(ag) — NaClaq) + H20()

Clomewem_ eflemsar [BBBENEVUITESSED 6l6n6omLITELD.
BIIERILD : CFTIQUID eWeYBL JTmF(H LoBmid eweupL Gyir
&Comfizs SNOVSIHNBSH Boor_ Cuunesr  Xiewenr
BOBVUITSESD  lewemLTGl).  @mig  CFmouiD,
L Jegener  emeuil G Cetfic DOV SHIHIBHSI
B L6 ss] CFlisns). BoHer aflenerionms CFmouid
&Conemy®B 61607 BBBIEWEVULITEN  [Bfl6D HeWFUpD 2 LI]
B BRI,

VG- 11: 1) D)e1bHaM60, <) 61HHaTUIS Sflevid
@) srhHeumuis diblevdalei GFmguid o I

35A. ov@-12: 1) ysss 2 _enieremr 172 (- 12.1)

VG-1441) )  LGemnd  o_cowTswey Bl SEHIBIEL.
Bemevs6rfish 2_crey 2_BUSHUITEHLD Gy
CoHmpeuIeinhs  CHEBLGHNSG  BLSBLIBBDS.
BIUTSHIHT  CHemersCHBLIND  BTCVOTHBGHBSG — GIBLIYD
2_cisy CHSEL SHIBESI CHHBIILINSG B SSLIIBH|SI.
616015, LB LT  MOUNTS 2 6oTe)GLIT BTN/
SIDASSI LISHBEBEGID LIV HenFH6I60 Bl SBLUIBDBIBS.

@) ysésas 2 _enietent 202 (2_misendd Cfluuor)

35B. @mwve-18: 1) yssa eremr 271 WTS  1i.ere00r : 237
DV&-19: ) 555 stemr: 283 WTS wi.etemr : 251
Sv&-21: )ysss eremr: 313 WTS  rretemr = 270
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